AT AREGHOT AT M I SRR 52
BT Bk 15, AIARBUT 5K IR R

1000W A X FREMFLLCIE TR B S 80

2 mpEks
NS H2 D= 05 BME =094
BIANHEE  Vin_min:= 390V Vin_max = 410V Vin_nor := 400V
W SE:  HHHEIE Vout:= 24V Vout_pk := Vout-0.01 = 0.24V

IR Tout = 41.7A
B WE R vd= 07V
i Th#%  Pout:= Vout-Iout = 1.001 x 103W
JUR/RETal Ocp:=1.3
MBS ERIE fr= 100kHz

FH R LE k=26
MOSEHiTHH 7S Coss = 80pF Cstray := 200pF
SEIX I IE]  Td := 300ns
A
RS
[+]

B R LA Iout max := Iout-1.2 = 50.04 A

B B /N Tout_min = Tout-0.001 = 0.042 A

o . Pout
WEMATIZE  Pin_nor = —% — 1065 x 10°W
n

AFEHME L ne — 097
2-(Vout + Vd)

Sz Vout + Vd
k25 Gmax = 2-n—— 1 XS _ 1,026
Vin_min
oy Vout + Vd
SN 2% Gmin = 2:n—— < _ 0,976
Vin_max

5w
=
IRk
Bk

Gmax pk := Gmax-1.15 = 1.179

Vout
% 05760

BUE R Ro =

Tout

Vout
/N B Ro min = ———— — 0.48Q)
Iout_max



= 11 b t
BRGBM @ e YO 75540
Iout_min
8-n2-Ro
LTI Rac:= = 30.587Q
IS
8-n2'R0 min
/NP Rac min = ————=—— = 25.489 Q)
T
8'n2-Ro max 4
R RAZI P Rac max = ———=—— =3.059 x 10" Q)
T
et 32 1
ISR/ M(x,k,Q) =
2 2
1 1\ 2
(-4 (-2
k 2 X
X
. 1
PHPEMEZE  Mr(x.k) =
1 1 Y72 1 1 1
1+ E l—— || +|x—— -
x2 X k(l - xz) (k-x)2
Q — 21 fi L 7 = Zin — Zin
Rac RqcQ 27 fyLy
2 2 2 2
T kK- 1 -k
BT 2k = || —EXQ |, {X_ 1. _}
2.2 2 X
X . .Q

1+x"k 1+ (kQx)’



M(x,k,0.2)

M(x,k,0.5) 1.7

M(x,k, 0.8)

M(X,k, 15) 1.4

i 1.2
_mm 1.1
Gmax 1
Gmax_pk 0.9
- 0.8
M(X, 10,05)0'7
M(x,3,0.5) 0.6
M . 0.5
Mk gy
03y /.
02,
L2
0.1
0
02 03

04 05 06 07 08 09 1 11 12 13 14 15 16 1.7



3

2.9
7Z(x,k,0) 2.8
2.7
7(x,k,0.1) 26
7(x,k,0.2) ;i
Z(x,k,0.38) 23
. 2.2
Z(x,k,0.55) 2.1
2
Z(x,k,0.7) 1.9
""" 1.8
Z(x,k,0.85) 1.7
Z(x,k, 1) ig
1.4
7(x,k,2
k2
Z(x,k,10) 12
----- 1.1
7Z(x,k,50) 1
— 0.9
7(x,10,0.55)0.8
7(x,10,0.2) 8'2
0.5
0.4

0.3
0.2
0.1

0
0.2 0.290.380.470.560.650.740.830.921.01 1.1 1.191.281.371.461.551.641.731.821.91 2

X
fimi fr 8.783 x 10°H
Ay 73 min ;= = 0. X Z

B/ N T AR .

1+k|1-
Gmax
AY f

AT RIE  fmax:= d —~ 1.085 x 10° Hz

1
I+k|1- -
Gmin



E%j(ﬁlg—é@ Qmax = . = 0.833
k-Gmax
\ e, 1 _
IR Cr:= ~ 7499 % 10" °F
2-7-fr-Rac_min-Qmax
X .Rac mi _
PR F R Ly QmaxRacmin o0 107K
2-m-fr
il FEL JE Lm:=k-Lr=2.027x 10 'H
Vout 2 2~n4~R0 min2
ERHREMME Lr msi= ——— |87+ ———=—— = 7.07A
8-n-Ro min 2.2
- Lm -fr
EYRHRIEME  ILr pko=2-ILr rms= 9.999 A
X . Vi ILr pk
IR S BRI ver pkoi= =y L PX 66V
2 2-1t-fmin-Cr
ZVSHIF ILm_min > Ip FHL 25 10 70 BB FEL VAL /)N T 50 R R VAL
i 1
ILm min = 0= = 4663 A
o Lm 4-fmax
. . Vi -
A Ip == (2Coss + Cstray)- “;—dnor — 0.48A W EZVS
fots Vi
MOS’ ¥ 17 Imos := 3-ILr_pk = 29.997 A Vinos = ——=9X _ 585 714V

2(Vout + Vd)

S . It I t
R R ST 1dd = 3-% — 117904 A Vdd = = 70571V

2
N e -8
W HRLE  1Co = | — lout_max = 24.191 A

N Vout pk _
S EFAESR  BSR = ———WLPX 30534 10 °Q
0.5-7v-Tout_max




